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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
LITERATURE

His later plays like The New Inn were failures. The Isle of Dogs earned him a prison sentence, and Sejanus earned him interrogation. In 1616, he was given an annual pension of 60 pounds, possibly becoming the first Poet Laureate. What playwright wrote Every Man in His Humour, Volpone, and The Alchemist? 

ANSWER: Ben Jonson
TOSSUP 2
SCIENCE

An extension of inertia, it explains why tropical cyclones will not form on the equator.  As a result, what force acts upon the pressure gradient and deflects winds to the east as they move toward the poles, but has no effect on the flow of water in toilets?

ANSWER: Coriolis Effect or Force

TOSSUP 3
MATH

It was developed to take advantage of a 1977 language invented by Donald Knuth that was used for uniform appearance of mathematical documents. In 1984 Leslie Lamport released the first version of this typeset. Unlike Donald Knuth’s Tek, it was meant for all sorts of word processing documents. Name this document markup language used in academia that shares a name with the fabric used to make ‘stretchy’ clothing. 

ANSWER: LaTex (pronouced Latek however accept “Latex”)

TOSSUP 4
SCIENCE

It appears silvery when pure and yellow when oxidized.  It was first produced and isolated in 1941 by Glenn Seaborg and its most important isotope has a half-life of 24,100 years and a mass number of 239.  Name this radioactive element with atomic number 94 and chemical symbol Pu that is named after a former planet.

ANSWER: plutonium
TOSSUP 5
SOCIAL STUDIES

The Tower Commission’s report on this scandal criticized the President’s lack of control over his staff. The deals failed, as radical Shi’ite groups in Lebanon simply kidnapped new American hostages. Some people think the US wanted to keep the 1980-1989 Gulf War going. What scandal, broken in November 1986, involved Oliver North? 

ANSWER: Iran-Contra scandal

TOSSUP 6
SCIENCE

Officially known as Gallus gallus, there are more than 24 billion of them alive.  Castrated males are known as capons and young females are called pullets.  Breeds of them include Dorking, Silkie, Cornish, Leghorn, and Rhode Island Red.  Name this type of fowl that is the C in KFC.

ANSWER: chicken
TOSSUP 7
SOCIAL STUDIES

Landmarks here include the Smith Tower and the Pike Place Market. Suburbs include Burien, Federal Way, and Bellevue. It has the highest percentage of college graduates among the general population of any major US city; these graduates might work for Safeco, Nordstrom, UPS, Boeing, Amazon, or Microsoft. What is the largest city of King County, Washington, and of the entire state of Washington? 

ANSWER: Seattle, Washington

TOSSUP 8
MISCELLANEOUS

After receiving his undergraduate degree from Johns Hopkins, he was expelled from its medical school for cheating.  In early 2007, he was investigated by local police, suspected of forging prescriptions for hydrocodone.  Who is this misanthropic head of the Diagnostic Medicine department at Princeton-Plainsboro Teaching Hospital, portrayed by Hugh Laurie?

ANSWER: Gregory House, MD

TOSSUP 9
LITERATURE

This term comes from a Sanskrit word meaning, ‘to cease blowing.’ According to the Pali canon, it can be achieved by insight, understand, deeds, virtue, or mindfulness. Someone who achieves this will undergo moksha (moak-shah), that is, to end the samsara (sam-sah-rah) cycle, and thus not be born again. What did the Buddha define as ‘the highest happiness’? 

ANSWER: nirvana
TOSSUP 10
SOCIAL STUDIES

Between 1905 and 1917, this legislative body came under the control of the Octobrist Party. Today, it is the lower house, and the Federation Council is the upper house, of the Federal Assembly. What body, re-formed in 1993, is led by Boris Gryzlov (GRIZ-loff) of the United Russia party? 

ANSWER: Russian Duma
TOSSUP 11
LITERATURE

She doesn’t appear in any Greek legends, but first appears in Book Six of Ovid’s Metamorphoses as a woman from Lydia. After ignoring the pleas of an old woman not to anger the gods, she was challenged to a contest. She killed herself after her depiction of twenty-one transgressions of the gods angered Athena. Who did Athena then take pity on and turn into a spider? 

ANSWER: Arachne
TOSSUP 12
FINE ARTS

The first of his four Academy Awards for Best Director was for 1935’s Informer. He lost in 1939 with Stagecoach, but won again in 1940 for The Grapes of Wrath, in 1941 for How Green Was My Valley, and in 1952 for The Quiet Man. What director, mostly of Western movies, made 20 film with John Wayne? 

ANSWER: John Ford or John ‘Jack’ Feeney
TOSSUP 13
MATH

THIS IS A COMPUTATION QUESTION. In what quadrant is the point (4, 76)?

ANSWER: first
TOSSUP 14
MATH

THIS IS A COMPUTATION QUESTION. How many points are scored in a darts turn consisting of triple 18, double 12, and triple 17?

ANSWER: 129
TOSSUP 15
LANGUAGE ARTS

Write down the following sentence. (Quizmaster: speak slowly). I ran up the hill to fetch a pail of water from the well, but the bucket had too many rocks inside it. (Quizmaster: speak normally) What are the objects of prepositions in that sentence?

ANSWER: hill, water, well, and it
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
MATH

THIS IS A COMPUTATION QUESTION. What is the value of 30 factorial divided by 27 factorial, which is equal to 28 times 29 times 30?

ANSWER: 24,360
BONUS 16
LITERATURE

Name these American authors from their nicknames.

A.
The Sage of Yoknapatawpha

ANSWER: William Faulkner
B.
The Belle of Amherst


ANSWER: Emily Dickinson
C.
The Chronicler of Main Street
ANSWER: Sinclair Lewis
D.
The Tenth Muse


ANSWER: Anne Bradstreet

TOSSUP 17
MISCELLANEOUS

He lost to Tim Henman at Wimbledon in 2001, but not before handing a loss to four-time defending champion Pete Sampras.  He defeated Mark Philippoussis in 2003 to win his first Grand Slam title, and has twice won three of the four Grand Slam titles in the same calendar year, but lost the 2006 and 2007 French Open titles to Rafael Nadal.  What Swiss tennis player is currently the #1 ranked tennis player in the world?  

ANSWER: Roger Federer
BONUS 17
MISCELLANEOUS

1995 was the last year where no movies grossed over 200 million. Answer the following about movies released during 1995.

A. 
This movie Disney/Pixar movie was the highest grossing movie of 1995.


ANSWER: Toy Story
B. 
This 6th highest grossing movie of the year was the first James Bond movie starring Pierce Brosnan.


ANSWER: Goldeneye
C. 
This movie, which came in at 12th place and grossed only 88 million, was at the time the most expensive movie ever made.


ANSWER: Waterworld
D. 
This movie came in a close second and still remains the highest grossing film in the career of Val Kilmer, Nicole Kidman, and Chris O’Donnell


ANSWER: Batman Forever

TOSSUP 18
LITERATURE

This work is based on the author’s correspondence with Elmo Patrick Sonnier and Robert Lee Willie. Its author is a Sister of St. Joseph of Medaille and lives in New Orleans. Tim Robbins adapted it for screen and stage. What work by Sister Helen Prejean (pray-zhawn) is a call for the abolition of the death penalty?

ANSWER: Dead Man Walking
BONUS 18
SCIENCE

Answer these questions about insects:

A. 
They belong to which largest animal phylum?

ANSWER: arthropods or Arthropoda
B. 
A defining characteristic of insects is what exterior covering that provides support, but also limits the growth of insects?

ANSWER: exoskeleton
C. 
What name is given to the process of shedding the exoskeleton?

ANSWER: molting or ecdysis
D. 
The arthropod body plan is typically divided into three parts. All or nothing—what are those three parts?

ANSWER: head, thorax, and abdomen
TOSSUP 19
SOCIAL STUDIES

The Tower Commission’s report on this scandal criticized the President’s lack of control over his staff. The deals failed, as radical Shi’ite groups in Lebanon simply kidnapped new American hostages. Some people think the US wanted to keep the 1980-1989 Gulf War going. What scandal, broken in November 1986, involved Oliver North? 

ANSWER: Iran-Contra scandal

BONUS 19
MATH

THIS IS A COMPUTATION QUESTION. What are the prime factorizations of the following?

A.
266

Answer:
2, 7, 19
B.
858

Answer:
2, 3, 11, 13
C.
1785

Answer:
3, 5, 7, 17
D.
9570

Answer:
2, 3, 5, 11, 29
TOSSUP 20
SOCIAL STUDIES

This city was founded in 1653, and five years later, the city of New Harlem was founded to its north. The island it was founded on was bought for trade goods worth 60 guilders. It was re-captured by the Dutch in 1673 and renamed ‘New Orange.’ The treaty of Westminster gave what city to the English, who promptly renamed it ‘New York?’

ANSWER: New Amsterdam (do not accept or prompt on New York)

BONUS 20
SOCIAL STUDIES

The Windy city and the Second city. How well do you know Chicago? Answer the following.

A. 
This county houses the city of Chicago


ANSWER: Cook County 

B. 
This county is divided into 9 townships and also included O’Hare International Airport.


ANSWER: DuPage County

C. 
This suburb of Chicago located on Lake Michigan is home to Northwestern University.


ANSWER: Evanston  

D. 
This name refers to a system of rivers and canals in southern Chicago and is used to provide water to the industrial district of Chicago.


ANSWER: Calumet River

TOSSUP 21
LITERATURE

This novel’s protagonist attends Lark Creek Elementary School and has four sisters: Brenda, Ellie, May Belle, and Joyce Ann. It ends with the drowning of the protagonist’s best friend. In what Katherine Paterson novel do Jesse Aarons and Leslie Burke cross a creek by using a rope swing, establishing their own fictional kingdom? 

ANSWER: Bridge to Terabithia 

BONUS 21
SOCIAL STUDIES

Answer these questions about one of our Presidents.
A.
Who became President after the death of Warren Harding?


ANSWER: John Calvin Coolidge
B.
Who did Coolidge defeat in the 1924 Presidential election to win re-election?


ANSWER: Al Smith
C.
Coolidge entered the national spotlight by responding to the police strike in what city?

ANSWER: Boston
D.
What woman, a humorist, reportedly said when Coolidge died, ‘How could they tell?’


ANSWER: Dorothy Parker
TOSSUP 22
FINE ARTS

The first book of these songs was written by Philippe Verdelot (vair-day-loh) in 1533. Although it had lost favor in its native Italy by 1600, it blossomed anew in England and did not lose favor until the 1630s. While Claudio Monteverdi is known today for his early operas, most of his output was these songs. William Byrd and John Wilbye also wrote what songs, an example of which is ‘My bonny lass she smileth?’

ANSWER: madrigal(s)

BONUS 22
LITERATURE

Name the Russian author from works.

A.
Eugene Onegin, The Golden Cockerel

ANSWER: Alexander Pushkin
B.
The Gulag Archipelago, One Day In The Life Of Ivan Denisovich

ANSWER: Alexander Solzhenitsyn
C.
Three Sisters, Uncle Vanya

ANSWER: Anton Chekhov
D.
Fathers and Sons, Home of the Gentry

ANSWER: Ivan Turgenev
TOSSUP 23
SCIENCE

Also known as propanone, it has a molecular mass of 58 and is a colorless liquid.  Its melting point is minus 95 degrees Celsius and its boiling point is 56 degrees Celsius.  It is soluble in water, ether, and ethanol and is the active ingredient in nail polish remover.  Name this simplest ketone that has chemical formula CH3COCH3.

ANSWER: acetone
BONUS 23
SCIENCE

Answer these questions about classical mechanics. 
A.
What type of collision has kinetic energy completely conserved? 


ANSWER: elastic
B.
What law states, ‘The net force on a body is equal to the rate of change of the body’s momentum?’


ANSWER: Newton’s second law of motion

C.
What is the rate of acceleration, a quantity that is the third derivative of displacement?


ANSWER: jerk, jolt, surge, or lurch
D.
What second-order tensor has nine components, and is defined as force per unit area? 


ANSWER: stress
TOSSUP 24
SCIENCE

It is covered with small bumpy projections called papillae. The thin membranes below it are an ideal place to put medicine, such as nitroglycerin for angina pectoris. Its four muscles extend all the way back into the oropharynx. The Greek for it is glossa, and the Latin for it is lingua.  Name this organ in the mouth that is covered in taste buds.

ANSWER: tongue
BONUS 24
MATH

THIS IS A COMPUTATION QUESTION. What are the products of the following complex numbers?

A.
(3 plus 7i) and (6 minus 10i)

Answer:
88 plus 12i
B.
(4 minus 5i) and (5 minus 7i)

Answer:
-15 minus 53i
C.
(2 plus 9i) and (3 plus 11i)

Answer:
-93 plus 49i
D.
(5 plus 3i) and (12 minus 5i)

Answer:
75 plus 11i
TOSSUP 25
MATH

THIS IS A COMPUTATION QUESTION. What is 48 times 21?

ANSWER: 1008
BONUS 25
LANGUAGE ARTS

Answer these questions about English usage. 
A.
This word was originally coined as a contraction for ‘am not.’


ANSWER: ain’t
B.
The phrase ‘to boldly go where no man has gone before’ contains what construction that really isn’t an error. 


ANSWER: split infinitive
C.
The Oxford English Dictionary says of this preposition, ‘In all senses, (BLANK) has been, from its earliest appearance, extended to more than two,’ so its use with three or more objects is acceptable. 


ANSWER: between
D.
The sentence ‘He crazy,’ omits what verb, also known as the copula, which since it is the only verb in the sentence, cannot be a helping verb? 


ANSWER: linking  

HALFTIME
Third period: 15 toss-ups
TOSSUP 26
MATH

THIS IS A COMPUTATION QUESTION. What is the length of the hypotenuse of a right triangle with legs of length 24 feet and 32 feet, remembering that leg squared plus leg squared equals hypotenuse squared and that 24 squared is 576 and 32 squared is 1024?

ANSWER: 40 feet
TOSSUP 27
LITERATURE

This novel featured John Solomon Rarey’s training ideas. In it, Grace MacLean is brought out of her accident-caused depression and her animal, Pilgrim, is made trainable again. Buck Brannaman was the real-life model for the main character, Tom Booker. What Nicholas Evans novel is about a man that can reach traumatized equines?

ANSWER: The Horse Whisperer
TOSSUP 28
FINE ARTS

Portions of it include the Court of the Blessing, the Court of the Lions, and the Gate of Pomegranates. In 1238, ibn Nasr expanded it to its current splendor, but it was nearly destroyed by the retreating French during the Peninsular War. Its watchtower saw Ferdinand and Isabella’s flag raised in 1492. “The red” is the literal translation from the Arabic of what palace complex in Granada?  

ANSWER: Alhambra
TOSSUP 29
MATH

THIS IS A COMPUTATION QUESTION. Solve for x.  x cubed minus 16x equals zero, which is equal to x times the quantity x squared minus 16 equals zero.

ANSWER: x equals 0, -4, and 4 (can be said in any order)

TOSSUP 30
LITERATURE

His novel The Centaur is about a boy suffering, as he does, from psoriasis. In 2006, he profiled Ahmad Ashmawy Molloy in Terrorist. His character Darryl van Horne seduces three supernatural women in The Witches of Eastwick. Who created the character of Harry Angstrom in five works, starting with 1960’s Rabbit, Run? 

ANSWER: John Updike
TOSSUP 31
SOCIAL STUDIES

He lost the First Bishops’ War, ending eleven years of Personal Rule. He allowed Parliament to meet every three years and abolished the Star Chamber. Nonetheless, the Long Parliament opposed him, and so he was tried for treason. His defense that no court could try a monarch failed. What English King was beheaded on January 30, 1649? 

ANSWER: Charles I
TOSSUP 32
SCIENCE

Members of them differ by a constant relative atomic mass of fourteen.  Examples of this type of compound include propane, butane, ethane, and methane.  Name this type of hydrocarbon that is a saturated compound due to having only single bonds with a general chemical formula of CnH(2n plus 2).

ANSWER: alkanes

TOSSUP 33
LITERATURE

He wrote Biographia Literaria, an autobiography in which he describes his opium addiction. He worked with his friend William Wordsworth on the poetry collection Lyrical Ballads. Who wrote the lines, ‘A stately pleasure-dome decree’ and ‘I shot the Albatross’ in his poems, ‘Kubla Khan’ and ‘Rime of the Ancient Mariner?’

ANSWER: Samuel Taylor Coleridge
TOSSUP 34
SCIENCE

Consisting of the order Anguilliformes, it contains four hundred species.  They do not have pelvic fins and can measure in length from ten centimeters to three meters.  Young ones of this fish are called elvers.  Types of them include sawtooth, snipe, spaghetti, congers, and morays.  The electric type is not a true one.  Name this type of elongated fish.

ANSWER: eel
TOSSUP 35
SCIENCE

It is an isomer of ammonium cyanate and has a molar mass of 60. In 1828, it became the first organic compound to be artificially synthesized. It is used in plastics, fertilizer, cigarettes, and in various glues. It is found in blood and most notably in urine. Name this molecule of chemical formula N2H4CO.

ANSWER: urea
TOSSUP 36
SOCIAL STUDIES

This economic term was first used in the 18th century by the physiocrats, a school of economists from France. It was first meant to warn against government interference with trade. What term, today synonymous with ‘free market,’ comes from the French words for ‘let do’? 

ANSWER: laissez-faire (lay-SAY fair)

TOSSUP 37
MATH

THIS IS A COMPUTATION QUESTION. What is 43 percent of 900?

ANSWER: 387
TOSSUP 38
SOCIAL STUDIES

Its last ruler was Francis II, and the first was Otto the Great. The Investiture Controversy and the Thirty Years’ War weakened its rulers’ power. Despite its name, it consisted of hundreds of kingdoms, principalities, duchies (duh-CHEEZ), counties, and Free Imperial Cities. In 1806, Napoleon abolished what entity that theoretically ruled over Germany? 

ANSWER: Holy Roman Empire
TOSSUP 39
MISCELLANEOUS

He was named for Thomas Edison and was originally nicknamed Dico. He played eighteen years for Santos Futebol Clube (foo-teh-bohl kloo-beh) and came out of retirement in 1975 to play three seasons with the New York Cosmos. The International Olympic Committee gave the Athlete of the Century title to what Brazilian soccer player? 

ANSWER: Pelé or Edson Arantes do Nascimento

TOSSUP 40
LANGUAGE ARTS

It is an offensive term for an Aboriginal Australian woman. It is also a card game for two players, in which each player has ten cards and tries to get her or his ‘deadwood’ under 10 points. The ‘London dry’ is the most popular type of the alcoholic drink with this name, made from flavoring grain spirits with juniper berries. What word also means to pull seeds from cotton fibers, or the machine for that task invented by Eli Whitney?

ANSWER: gin (the card game is gin rummy)

Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
LITERATURE

Subplots in this novel include Tim Linkinwater and Miss La Creevy’s romance and the will of Madeline Bray’s grandmother. The title character beats Wackford Squeers after Wackford whips the crippled Smike. The title character takes care of his mother and sister Kate, and is opposed by his uncle Ralph, in what novel by Charles Dickens?

ANSWER: The Life and Adventures of Nicholas Nickleby
BONUS 41
MISCELLANEOUS

Answer the following about the 2005 Supreme Court nominations 

A. 
This man was selected to replace Sandra Day O’Conner on July 19th

ANSWER: John Roberts Jr.

B. 
John Roberts nomination for Sandra Day O’Conner was withdrawn and resubmitted to fulfill this man’s position after he had died.


ANSWER: William Rehnquist

C. 
On October 3rd this former white house counsel was selected to replace Sandra Day O’Connor


ANSWER: Harriet Miers
D. 
After Harriet Miers withdrew from her nomination, this man was nominated for the Supreme Court.


ANSWER: Samuel Alito

TOSSUP 42
LITERATURE

After she married, she moved from Belle-Reve plantation to a two-room flat on Elysian Fields Avenue in New Orleans, with Steve and Eunice as her upstairs neighbors. After her husband raped her sister, she sent her sister to a sanitarium. Who was the sister of Blanche DuBois and wife of Stanley Kowalski in A Streetcar Named Desire? 

ANSWER: Stella Kowalski 

BONUS 42
SCIENCE

These elements all have complete s orbitals.

A. 
Give the name or number of this group of elements that begins with beryllium.

ANSWER: alkaline earth metals or group 2
B. 
This second alkaline earth metal can burn spontaneously in air; it is used in lightweight alloys.

ANSWER: magnesium
C. 
This is the only alkaline earth metal with no stable isotopes.

ANSWER: radium
D. 
Isotope 90 of this alkaline earth metal, which is also radioactive, is a health hazard because it can replace calcium atoms in bone.

ANSWER: strontium
TOSSUP 43
SCIENCE

Off of South America, this type of interaction is happening to the Nazca Plate, creating the Andes Mountains and also causing volcanic activity in the area.  Additionally, the Pacific Plate's movement towards the Eurasian is creating the Marianas Trench.  What is this type of interaction between crustal plates where a less dense ocean plate is forced under a continental one?

ANSWER: subduction
BONUS 43
MATH

THIS IS A COMPUTATION QUESTION. If A = 1, B = 2, etc., through Z = 26, what are the numerical values of the following?

A.
D times F times U.


Answer:
504
B.
P times W times B.


Answer:
736
C.
Q plus T plus N plus R.

Answer:
69
D.
D plus V plus E plus G plus Y.
Answer:
63
TOSSUP 44
SOCIAL STUDIES

In 2001, the Japanese built a bridge over it with a 220-foot clearance that allows large ships to pass under it. This waterway was closed after a 1956 crisis, and once more from 1967 to 1973. In 1875, the United Kingdom bought a share from Ismail Pasha, the ruler of Egypt. What artificial body of water connects the Red and Mediterranean Seas? 

ANSWER: Suez Canal

BONUS 44
LITERATURE

Identify these figures from the Trojan War. 
A.
What husband of Penelope devised the idea of the Trojan Horse? 


ANSWER: Odysseus or Ulysses
B.
Who stole Helen away and slew Achilles? 


ANSWER: Paris
C.
Who was the King of Troy? 


ANSWER: Priam
D.
What king of Sparta was the husband of Helen of Troy?


ANSWER: Menelaus
TOSSUP 45
MISCELLANEOUS

Prior to his current post, he served as Chancellor of the Exchequer for ten years, taking office when John Major was defeated.  Who also assumed leadership of the Labour Party when he replaced Tony Blair as Prime Minister of the United Kingdom?

ANSWER: Gordon Brown
BONUS 45
LITERATURE

Given an author’s actual name in world literature, give the pseudonym.

A.
Eric Arthur Blair

ANSWER: George Orwell
B.
Charles Lutwidge Dodgson
ANSWER: Lewis Carroll
C.
Francois Marie Arouet
ANSWER: Voltaire

D.
Marian Evans


ANSWER: George Eliot

TOSSUP 46
SCIENCE

Named after a French physicist, it can be defined as either one farad times one volt or as one ampere times one second, which would give its value as approximately 6.2415 times ten to the eighteenth power elementary charges.  It is also the unit of electric flux.  Name this SI unit of electric charge.


ANSWER: coulomb
BONUS 46
MATH

THIS IS A COMPUTATION QUESTION. What are the areas of the following?

A.
A circle of diameter 24 feet.

Answer:
144 pi square feet
B.
A triangle of base 10 feet and height 44 feet.  Answer:
220 square feet
C.
A square of perimeter 108 meters.
Answer:
729 square meters
D.
A circle of circumference 16 pi feet.

Answer:
_64 pi square feet
TOSSUP 47
LANGUAGE ARTS

They were known as the futhark by people who used them. They are generally grouped into three categories: Elder, Anglo-Saxon, and Younger. While they were used mostly between 150 and 1100 AD, their use persisted in rural Sweden until the 19th century. The Nazis made heavy use of them in their mystical symbolism, since Odin allegedly invented them. What was this alphabet used for German languages? 

ANSWER: Runic alphabet or rune(s)

BONUS 47
FINE ARTS

Name these film composers who are not John Williams for 5 points each.

A.
He composed plenty of classic Hollywood scores, like those for King Kong and Gone with the Wind

ANSWER: Max Steiner
B.
He got his start on Citizen Kane but went on to write scores for Vertigo and Psycho.

ANSWER: Bernard Herrmann
C.
His partnership with Tim Burton produced excellent scores for Edward Scissorhands, Big Fish, and more.

ANSWER: Danny Elfman
D.
He won two Oscars for his scores for the Peter Jackson's Lord of the Rings films.

ANSWER: Howard Shore
TOSSUP 48
MATH

THIS IS A COMPUTATION QUESTION. What is the only two-digit perfect number?

ANSWER: 28
BONUS 48
SCIENCE

It is typically jet black, but can be colored.

A. 
Name this substance obtained from rapidly-cooling lava.

ANSWER: obsidian
B. 
Because obsidian comes from lava, it can be classified as this type of rock.

ANSWER: extrusive igneous rock or volcanic rock [accept any underlined answer]

C. 
Obsidian is this type of non-crystalline material that forms when an amorphous material cools quickly.

ANSWER: glass
D. 
Obsidian can be dated by testing this property, the amount of water that is absorbed by the obsidian.

ANSWER: hydration [accept word forms]

TOSSUP 49
SOCIAL STUDIES

Virginia and Kentucky ratified it in 1791 and 1792, and Ohio ratified it in 1873. It lay dormant for over a century. In 1992, Don Wilson, the Archivist of the United States, certified it and it went into effect. What Constitutional Amendment states that Congressional pay increases will not take effect until after the next election? 

ANSWER: 27th Amendment

BONUS 49
SOCIAL STUDIES

Answer these questions about the early American navy.
A.
What commander of the Bonhomme Richard said, during a legendary duel with the HMS Serapis, said, ‘I have not yet begun to fight!’ 


ANSWER: John Paul Jones
B.
The 10th of what month in 1775 is considered the birthday of the Marine Corps? 

ANSWER: November
C.
Who won the Battle of Lake Erie during the War of 1812?


ANSWER: Oliver Hazard Perry
D.
Stephen Decatur led a raid to destroy the frigate Philadelphia in what city’s harbor? 


ANSWER: Tripoli
TOSSUP 50
MATH

THIS IS A COMPUTATION QUESTION. At what point is the center of the circle x minus 5 squared plus y plus 33 squared equals 144?

ANSWER: (5, -33)
BONUS 50
SOCIAL STUDIES

Answer these questions about the decline of the French empire.


A.
In 1958, who became the first President of the Fifth Republic, perhaps saving France from a military coup?


ANSWER: Charles de Gaulle
B.
In 1962, over a million people fled to France from what overseas colony that became independent in that same year?


ANSWER: Algeria
C.
What 1954 battle convinced the French that French Indochina could no longer be held?


ANSWER: Dien Bien Phu
D.
Remaining in the Empire was what most populous island of French Polynesia, whose capital is Papeete (pah-pay-ay-tay)?

ANSWER: Tahiti
END OF MATCH

Spare questions
TOSSUP 51
LANGUAGE ARTS

It is a looped knot with two or more loops and two ends. In music, it refers to a musical instrument made from a bent piece of wood and a string, or to a device pulled across the strings of another instrument. The front of a ship shares its name with what weapon that propels arrows?

ANSWER: bow (it can rhyme with either ‘no’ or ‘now’)

BONUS 51
LANGUAGE ARTS

Identify these words that are also forms of discipline or torture.
A.
A really bad legion endured what punishment, where every tenth man was killed; it is today a synonym for ‘destroy a great number?’


ANSWER: decimate or decimation
B.
What word can mean either to beat with a whip, or today means to sell something aggressively?
 
ANSWER: flog(ing)
C.
What word describes either the ribs of a sheep, pig, or calf, or to something clothing comes off of? 


ANSWER: rack 

D.
What word, originating in a French word for ‘glove,’ describes a knight’s hand protection?

ANSWER: gauntlet
TOSSUP 52
FINE ARTS

Cyrill Demian patented an instrument with the same name, but it only had one keyboard; today, they have two keyboards, with the keys pushed in towards the player. They are split into “piano” and “button” varieties depending on how the keyboards are laid. They are prominent in several genres of music: French musette, Mexican norteño, Cajun zydeco, and of course polka. What instruments make noise by being squeezed?

ANSWER: accordion(s) (DO NOT accept concertina)

BONUS 52
SCIENCE

Answer these questions about aerobic respiration:

A. 
Aerobic respiration, by definition, requires the presence of which gas?

ANSWER: oxygen or O2
B. 
The energy liberated by respiration is stored in which molecule's so-called “high-energy” bonds?

ANSWER: ATP or adenosine triphosphate
C. 
The first stage of respiration is what 10-step process that breaks down glucose?

ANSWER: glycolysis [gly-KAH-luh-sis]

D. 
What three-carbon molecule is the end product of glycolysis?

ANSWER: pyruvic acid [py-ROO-vik] or pyruvate
TOSSUP 53
MATH

THIS IS A COMPUTATION QUESTION. You want to find the cost of a ream of paper at Dunder Mifflin. A ream at PaperGreat costs $9 and is two-tenths of a cent per sheet cheaper than Dunder Mifflin. Therefore, what is the cost of a ream of paper at Dunder Mifflin, if you remember that a ream has 500 sheets? 

ANSWER: $10
BONUS 53
LITERATURE

Given a literary quotation from American literature, name the work in which it appears.

A.
“I’m really a very good man; but I’m a very bad wizard.”

ANSWER: The Wonderful Wizard of Oz

B.
“…he was nimble in the calling of selling houses for more than people could afford.”

ANSWER: Babbitt

C.
“I’ll make him an offer he can’t refuse.”

ANSWER: The Godfather

D.
“It was a pleasure to burn.”

ANSWER: Farenheit 451

TOSSUP 54
LITERATURE

This novel’s title character eventually dies at the hands of Doramin while working in the remote Indonesian town of Patusan. It was inspired by the story of the S.S. Jeddah, whose British officers abandoned their sinking ship and 1,000 passengers. In the novel, the ship carrying Muslim hajji is called the Patna. What is this novel by Joseph Conrad? 

ANSWER: Lord Jim
BONUS 54
MATH

THIS IS A COMPUTATION QUESTION. Solve the following percentage problems.

A.
What is 32 percent of 900?

Answer:
288
B.
What is 76 percent of 1250?

Answer:
950
C.
What is 23 percent of 3400?

Answer:
782
D.
What is 18 percent of 2300?

Answer:
414
TOSSUP 55
MISCELLANEOUS

Along with this company's purchase by the Cerberus Group in May came a change in its logo, from the former winged design back to the trademark Pentastar used until 1998.  Dieter Zetsche (zeh-CHEH) engineered the spin-off of what company from its former parent, Daimler (DIME-ler)?

ANSWER: Chrysler (Do not accept DaimlerChrysler)

BONUS 55
FINE ARTS

From a description of the work, name it.

A.
A bronze sculpture of six French men walking, nooses around their necks, and carrying the keys to the title city.

ANSWER: The Burghers of Calais
B.
The title of this William Holman Hunt work is taken from John 8:12, and features an austere Jesus holding a lantern at night.

ANSWER: The Light of the World
C.
A murdered man who was writing a letter lies dead and bleeding in a bath. 

ANSWER: The Death of Marat 

D.
One critic dubbed this work, "Explosion in a Shingle Factory," though Duchamp's title suggests something more sensuous.

ANSWER: Nude Descending a Staircase
TOSSUP 56
SOCIAL STUDIES

This title was first given during the Heian (hey-ahn) period, and it means ‘general who subdues the eastern barbarians.’ The Emperor’s son held it briefly in 1333, but three long-lived dynasties held the title: the Minamoto, Ashikaga, and Tokugawa. Between 1185 and 1867, what title was held by the true rulers of Japan? 

ANSWER: shogun(s)

BONUS 56
MISCELLANEOUS

Identify these British bands of the 1970s. 
A.
Jeff Lynne was the leader of what band that performed ‘Fire On High’ and ‘Don’t Bring Me Down?’

ANSWER: ELO or Electric Light Orchestra
B.
What band was banned for four years from performing in the US, partially because the Davies brothers would fight each other in between songs such as ‘You Really Got Me’ and ‘Lola?’

ANSWER: The Kinks
C.
Ozzy Osbourne is the lead singer once more of what band that performed ‘Paranoid’ and ‘Iron Man?’

ANSWER: Black Sabbath
D.
What band performed ‘Anarchy in the U.K.’ and ‘God Save the Queen?’


ANSWER: Sex Pistols 

TOSSUP 57
SCIENCE

The company he founded is now a part of United Technologies, and makes the Cypher II and the S-92. He designed a snowmobile with a propeller that ran on skis. He was made part of the Order of St. Vladimir for designing the World War I Ilya Muromets bomber. The first four-engine airplane was invented by what Ukrainian who also made the first modern helicopter? 

ANSWER: Igor Sikorsky
BONUS 57
SOCIAL STUDIES

Answer these questions about European nations formed in the 19th century. 
A.
In 1878, Moldavia and Wallachia formed what independent nation?


ANSWER: Romania
B.
Who was the first ruler of the modern Kingdom of Italy?

ANSWER: Victor Emmanuel II
C.
What ‘Iron Chancellor’ engineered the unification of Germany and the creation of the German Empire?


ANSWER: Otto von Bismarck
D.
The London Protocol of 1829 recognized the independence of what nation from the Ottoman Empire?


ANSWER: Greece
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